S ¢
* BS.2... SINGLE STATION SUBPLATE Qron.
— ——— "
& BS.2.%*...
M I S Single subplate (blanking) BS. %. 02
.
- i

CETOP 2/NG4 | { |

02/03/04/05/07

29 ’7 - *‘
No variant

Serial No.

CETOP 2 SUBPLATES
BS.2.*.../ BS.2.12...
BS.2.14... CH.VII PAGE 2
BS.2.16... / BS.2.20... o .
BS.3.2... CH.VII pAGE 3 Weight: 0,09 Kg f ] | T T |
BC.2.50.AB... / BC.2.50.PT... OR 2-010/90 —

Fixing screws

[N 'a ..1 '\) .uj
e
—
@
D

20
16
®
@
>
L

BC.2.51... CH.VII pAGE 4 M5x25 UNI 5931 _ 50 ek o
BM.2.**.../ BM.2.60... 24 i
CH.VII PAGE 5 LS. 4 | |
BM.2.50... / BM.2.70... (]
f\ 1T /rm P T B A
CH.VII PAGE 6 {31, )
wi \]v/,\‘ j_h\/\\ | BS. X. 07
- + A
CMP.02... Ch. V pace 17 7 at /\Hl B it ‘ ‘
17 T
N P\ P T B A
BS.2.12 (REAR CONNECTORS)
Single subplate
CETOP 2/NG4 P
1/4" BSP — 52 3085 2.5
rear connectors @ — _
A% I S ]
No variant ' T i3 Wa‘f@ T : 26 4 )
o TR N TN B My R
Serial No. P NZ S e A ) I
! - [P o
/ﬁ+ i 2 . P
Y é} © F— — - \\;@
Weight: 0,3 Kg & B 55 >
Fixing screws M5x35 UNI 5931 L2 l L2
65

BS.2.14 (SIDE CONNECTORS)

Single subplate :l_f \_f;
65 \; - 4
CETOP 2/NG4 % P = 1. 5
R =0 = <
" 15 N 15. 4 . 15
side connectors [ © i i S F-F =
= F@ T ==
I % T 1 \J Fgn\
No variant B T 177@1 kd; ;tr: - H I a
. g La—b - Tra L osle
Serial No. © R S S e T 1
= S R N ¢ SN ! .
R SalidRs d g
) | | I 1 \%ﬂ = — o
Weight: 0,3 Kg I e ch Za & I :
N
Fixing screws M5x35 UNI 5931 F 6.5 52 & 26

File: EBS2001 Vil e 2 00/2000/e



BS.2... SINGLE STATION SUBPLATE ron

BS.2.16 (connECTORS SIDE A AND B, REAR P AND T)

BS Single subplate

CETOP 2/NG4

III |=I |i' III lIl
Ll o N

1/4" BSP rear = =
and side connectors V 1
- N
i i1 (& T A\
No variant i - © U/:tr: T
ooku?woo” | — n,r\\‘ /\B + | =y (=]
) ~ g —‘H | \L/r A4 | [N 0|
Serial No. ' il SO iy R e I
i1 F ea
T :
r @
; Ol
Weight: 0,3 Kg < 15 o
Fixing screws M5x35 UNI 5931 12 [ 12

BS.2.20 (conNECTORS SIDE A AND B, REAR P AND T)

Single subplate

CETOP 2/NG4

max. 40

1/4" BSP rear
and side connectors

Type of adjustment
grub screws

58

‘III lil l%i III IEI

Setting ranges ~
1 = max. 30 bar (white spring) AR
2 = max. 90 bar (yellow spring) @ NI a8
3 =max. 180 bar (green spring) o4 6 1samsse |

4=max.250bar (orange spring) o

*
*

00 = No variant = 1=
V1 = Viton - -

IHII III

Serial No.

Weight: 0,45 Kg

* The minimum permissible setting pressure depending on the spring:
Fixing screws M5x50 UNI 5931 see cartridge valve type CMP.02...

BS.3.2 (repucTioN PLATE FROM CeTOP 3/NG6 TO CETOP 2/NG4)

Single subplate 5.5 o y
| -l C 4
Al 13 .5 )
CETOP 3/NG6 == “ &
=
CETOP 2/NG4 Al AL i A A
N T T B T T = 7T 7777 :\ M v
. I ’ ﬁ{ Eﬁ Bl.~ 1B Q¥%}]§; ) )w h
No variant o = T Bi- __° % M
o * o~ /7:$;\ - — i LT N /Zéfgzj - =
«© — LA \ -\ 3 —
Serial No. 7 W@@ e R S S N N
" & A e fr;g)*\ o
N |
P é TS T %
¥ [ ¥ ] ¥ S
\
Weight: 0,12 Kg _ STl _ _18
Fixing screws M5x20 UNI 5931 _ 45 OR 2-012/90 22:5

File: EBS2001 Vil e 3 00/2000/e



